libery

Yoga conditioning by TIPNESS

7:00 »

8:00 »

9:00 »

10:00 »

11:00 »

12:00 »

13:00 »

14:00 p

15:00 »

16:00 »

17:00 »

18:00 p

19:00 »

20:00 »

21:00 »

22:00 »

2020.9. 1~

A

W

7K

7N

&

*

=|

SHRIIF F=FIRIIA| FHRII* F=FYRIVA| IHRIVA F—TFVRIVA| IHRIVF F—FIRIVF| IHRIVA F—TFVRIVF| IHRIVAF FA—TFYRIIFE | IHRIVA A—TFIAIIH
oy - : OO 5
~libéry flow~ 74;&57121 33011
7:45~8:30 . .
TE ETT #E xu L
Yok 3 s anr | wbota 534" Relax 531" Relax W Relax  ELLSECRIFD|  Bayrlan
10:45~11:45 10:55~11:40 O 10 : 55~11 : 40 10:45~11:45 10:45~11:45 oy E 0:45~11:45  BIE G 10:45~11:45
. . - . ) nergy ; 150~11:
e SN | ETSTE #E % His B% oML I eEe i BB
: : : :
. YL 7 4R-Y2)° vty - 080 S lBSP . E R s
M3n" Relax 12:15~13:00 ~1ibéry flow~ *g*zg::suag L YANGFATT 3N =) ibér’y"lﬂgw—w BT 4942y YK VAR 30 YL & F A=Y
12:15~13:15 EETE 12:15~13:15 : : ~IfY e~ ~ AN =~ 12:15~13:15 12:20=[13:05 12:15~13:15 12:30~13:15
FEETE Sl pregry SIS | 1205~1305 12:30~13:30 2z 2m RS B2 % ANE BB &E & |
: AR EX : :
o #5 4924b b2y :
1y - . : T 13:30~14:15 ; . - . X : 1
~libéry flow~ 1787930 60 n93h" Energy M3 Relax 7L 5742 UANITT 30T T A9Ab b-2Y) * 9ty - e X BaI-L3h 8 N NB K Relax gz wriip-zvh
R 13:45~14:45 13:45~14:45 13:45~14:45 13:50~14:35 13:45~14:45 13:50~14:35 ~I ial:]ér/y”flow‘v HAFR 5 4m-70 13:45~14:45 14\11?2_134",45 13:45~14:45 1400~ 144
e Rl | R e age Rk A 14:00~15:00 ‘4°~‘° TRl BT Fa BE
&F £T S :
: NvEy) A n
P o ! . N3 37 Advance
N9ah° Energy Maf Relax NUE9H3H 60 X X NS D% Energy  15:15~15:45 : vance -
Eip- 15:15~16:15 90~16: UUF IR I VUM 574R . B 15:15~16:15
15:15~16:15 Sl 15:20~16:20 e AL 15:15~16:15 Pl HRE -
_ B HEE % T _ 4
CE I hLd i
ZHEOEHOIH
16:45~17:30
Ami
cot f- am o 431" Energy  7maEhy Mj-hivk P
N8 35 Ener AT 7 4025 E 93 EF b ey | G e ¢ g N IIVESE - 3h W 574 X
o a0torie.  18:25~19:10 | ~libery Flow~ 70N BT 18:16~19:15 18:20~19:05 e oo | nmIF Relax  wgk s amonr
18:15~19:15 BE B = 18:30~19:30 18:40~19:25
Ly T sl mx &t :
K7 ayadb -2y bt 570 B8y —LTS FAR—-
LaDa030 = 19:45~20:45 19:45~20:30 ST oM
: KB 2B 20:00~21:00 20:05~20:50

FENbEY An =7




